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Q= 39T / GENERAL INSTRUCTIONS :

1. dEgE 9 gt f@eRo OMR 3¥ 95@ T 9 |

Carefully fill up the necessary particulars on the OMR Answer Sheet.
2. HY AU [ LA OMR 3R 06 | & T8 08 |/ HT |

Put your full signature on the OMR Answer Sheet in the sSpace provided.
3. 39 WA qRaH o Fo1 40 Tg-fashedta weT ¥ )

There are 40 Multiple Choice Questions in this Question Booklet.

4. |l uvH stErd € 1 ues ued @ sivmeer | st a2 | T I & ferw 3 781
12T A0 |

All questions are compulsory. Each question carries ] mark. No marks will
be deducted for wrong answer.
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T afew afer @ 9
(1) == () @AW
(3) 3= | (4) fowmm

Which is a scalar quantity ?

(1)  Force (2)  Acceleration
(3) Speed (4) Displacement
e wroar &

(1) = 2 g

(3) 99w (4) 3Ea 9
Odometer measures

(1) speed (2) distance

(3) time (4) average speed

RO H S S

(1) #=R @) et/ W
(3) X/ g2 (4) 2 / W
29-9004/11 | SCI
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The SI unit of acceleration 1S

(1) m @

@ m/s’ @ 0
" mmﬁaﬁ%mﬁaﬁ@@%

0 2

@) faerE @ =

The distance travelled by a substance in unit time 1s

(1) speed (2) velocity

(3) displacement (4) acceleration

5 AUy HH e ?

(1) v =u-+at

(2)

vV =u-aqt
v+u
3), a== (4)
U+ uyu = at
Which one of the following is correct
(1) v=u+at
(2) -
V=u-qt

“) Uty =

at
999-9004 /11
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6. Hﬁ%&ﬁaﬁaﬁrc—ﬂmzm/s2ﬁaﬂt4ﬁmmwaﬁm330m/sﬁaﬁ%
At 7% i WRWE T 4 ot
(1)/ 38 m/s (2) 22m/s
(3) 24m/s (4) 32m/s

A body is moving with an acceleration of 2 m /32 and after 4 sec its speed
becomes 30 m/s. The initial speed of the body was

(1) 38m/s (2) 22m/s
(3) 24 m/s 4 32m/s

7. A Hi 7a & fean A E 2
(1) T&F 2)

(3), = 4) ¥R
'4

How many Newton's laws of motion are there ?

(1) One (2) Two

(3)  Three (4) Four

8. fa= o @ fxaw g Ausm B 2

(1) GnfEa (2) @R
(3) (4
[9¢5°5004/11] scI
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' inertia ?
Which of the following has more 1In€r

2 Car
(1)  Bicycle @
(3) Bus o

30 N 1 FE w5 kg HI el FEG W 2

T §
1) 4m/e? (2) 35m/s?
8 25m/s? (4) 6m/s?

A force of 30 N acts on a body of 5 kg for 2 seconds then the acceleration
of the body is

(1) 4m/s? (2) 35m/s?

(3) 25 m/s2 (4)  6m/s?

el m g=aH @ o o 3 v¥, T HAT T @ o

2
(1) (mv) (2) mp2

3)  Lmy?

2t 2 4 my

What is the momentum of

an object of mass m \ t
Movinp i e
' - g wWith a velocity

(2) muy?

1 2
mu
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, Loy j

SCI



@ SCI

|, gt & e @R (g ) FOHAME
(1) 98 m/s? 2) 98 m’;§2
(3) 098 m/s? 4 0-098m/s?
The value of acceleration due to gravity (g) of the earth 1s
(1) 98 m/s? (2) 9:8m/s?
(3) 098 m/s? | (4) 0098 m/s?
12, WERE TEeEE fERiE GH S AEE §
(1) m/s? (Q] kgm/s
(3) Nm? / kg? (4) S
S.1. unit of universal gravitational constant G is
(1) m/s? . (2) kegm/s

(3) Nm? / kg? (4) joule

13. w=W # ude W RS AR @ 9% gEl # GaE W I@H WR 1 ReaT T

RIAT & 2

1) 6 1

(1) @ 3

(3) 2 1
O

JE%-5004/m1] SCI
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SCI @ imes that of its weight g,

t
i w many
Weight of an object on the moon is ho

the earth ?
5 1
(1 6 @ 2
1
14, f=d @9 o @ e 2
(1) @@ (2
(3) @R (4) o
Which of the following is not a matter ?
(1) Air (2) Water
(3) Love (4) Food
15. T s o gl ) sl s ae & 5
(1) @@
e (?] Ty
(3) ™™
(999-9004/11 |
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In which state is the energy of molecules highest ?
(1)  Solid (2) Liquid

(3) Gas (4)  None of these

6. d& s o o ) iy arg § 9w S et ST 8, wEel §
(1) o () , HaF

(3)  AmS (4) waw

The process in which the fragrance of perfume spreads all around in air

is called
(1) diffusion (2) condensation
(3) evaporation (4) melting

7. 25°C aTdHH SR 8

(1) 298K @ 248K
(3) 125K . 4) 300K

25°C temperature is equal to

(1) 298K . (2) 248K
(3) 125K (4) 300K
1399-9004/11 SCI 33 of 44
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18. Ao & w5 & A Sy S A ¥
, | -
(1) Fu® (2)
& @rg e
(3) o @ ¥
Force of attraction between the particlcs of gas is
(1) more (2) less
(3) excess (4) none of these
19. frrdgad @F sfAfed & 2
(1) == (2) IHR
SO () s
Which of the following is indefinite in liquid ?
(1) Density @ Shape
(3) Volume 4 Mass
20. fF= A= it %
hust T 4 3 sy S & ,
faes
(1) 2 qﬁﬁ@a
3
(3), ¥ @ s
999-9004 /11 ”Eﬂi
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Which of the following clothes are more comfortable during summer ?

(1) Silk (2) Polyester

(3} Cotton (4)  Synthetic

21, U MR SR & &
(1) 10 . (2) 1070 ¥

(3)  10° 7R (4) 17
One nanometer is equal to

(1) 10 nanometer ' (2) 10~° nanometer

(3) 10° nanometer (4) 1 nanometer

22. @Taﬁw%%ﬂnmmw%
(1) . =qeA (2) I IHE

(3)  aEl UeT. TORC TS USE (4) TosRH

Who propounded the law of constant proportion ?
(1) Newton

(2) J.dJ. Thomson

(3) Antoine L. Lavoisier and Proust

(4)  Goldstein
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53 g dea & oifed A ®H § 2
(1) e 2 ©m=
(3) HW 4) g

Which element has the Latin name ferrum ?
(1) Iron (2) Zinc
(3) Copper (4) Gold

04, difeag &1 d%d &

(1)  Ne (2) Na
(3) N (4) Zn
The symbol of sodium is

(1) Ne (2) Na

3 N (4)  Zn

25. T & U 310 F EEge U ARIH % 9K ST B

({] 1:8 (2} 8.3
B) 1:16 (4) 6.

999-9004/11 |
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e in th¢
The weights of hydrogen and oxygen in a molecule of water ar the

ratio
(1), 1:8 (2) 8:1
(3) 1:16 (4) 16:1

26. T T P TEHHS IHE 1A ¢ ?

(1) 9] (2 9
(3) A 4) T Qg @
What is the constructive unit of all matters ?
(1) Atom (2) = Molecule
- (3) Ion : (4) None of thcse

27.  HAHE! FT Aol el ¢

(1) oo (2 | ffws
" A
(3)  ohivseAl 4) EENEy

The suicidal bag is called

(1) Chloroplast (2) Vacuole
(3)  Nucleolus (4)  Lysosome
1999-9004/11 sCI
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28.

29.

30.

<>

A F5 F HA 8
(1]  DNA-HYAS

(3) A

The function of centrosome is

(1) DNA-synthesis

(3)  Respiration

e YRR ! TR ol HIVER &
(1) et i

(3)  FFA HiRTH

The longest cell of human body is
(1) Neuron

(3) Liver cells

(1) 9T grard
- (3) g T

999-9004 /11
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(4)

(2)

(4)

(4)

(2)

(4)

Spindle formation

Reproduction

e i HITITRT

Ut ShifereRr

Cells of kidney

Muscle ce]j

M Rram)
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Main difference between plant and animal cells is
(I)  Related to nutrition (2) Related to motion

(3)  Related to growth (4) Related to respiration
31. ] eRRT § A g e &
(1) iR freedt (2) hiferenr ffd

(3) TErEm (4) eI

Animal cell does not contain
(1)  cell membrane (2) cell wall

(3) ribosome (4) mitochondria

30, U wfes &l Fed &
(1) FAREE ) HIFEARL

(3) LRI 4) T HE A

Coloured plastid is called
(1)  Chloroplast ' (2) Chromoplast

(3)  Leucoplast (4)  None of these

[999-9004/11 | scI 39 of 44
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33. mﬁw@ﬁfﬁuﬁﬁmﬁwqﬁﬁm%?

(1) F5H (2) AT

3), AT hi~ga (4) T
Protein synthesis does not take place in the absence of

(1) nucleus (2) chloroplast

(3) ~mitochondria (4) ribosome

14 TR SER § SO F Hrasier & sRor o § aife g s d § 2

(1)  HFRF Hah 2) urd v

(3) it fevritren @) T IAF

By the activity of which type of tissues are the annuag] i
formed ? https://www jharkhandboard.com rings in plants

(I)  Conducting tissues (2)
Lateral merist
em
(3)  Apical meristem (4) |
Sclerench
¥ma
35. fifwd § @ ®1 wAUH Sds 1 9w T8 &
(1) = At R
-
3
( ) FIT!i (4} “ﬁi f [
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Which one of the following is not a part of phloem tissue ?
(1)  Sieve tube (2)  Fibre

(3)  Ligament (4) Companion cell
36. HH-T S of SR @t F1 T FATE 2

(1) . weTH (2)  STEe™

(3) udefiw (4) R HE

Which one of the following tissues transports water and minerals ?
(1) Phloem (2) Xylem

(3) Epidermis (4) Collenchyma

37. TEE oY SeTH & footn! § uran ST g

(1) &a seas (2)  THWIEEH

S REINEIRES B (4) G kE

............. is found in the shells of groundnut and almond.
(1)  Chloroplast (2)  Sclereids

(3) Intercellular space (4)  Sieve plates
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LIAC

iR &7 e AR el T8 SR S €
(1) §E HaF () wdfufead FAE
(3) EaE Faw (4) WW

: i erin
Which one of the following forms the inner and outer protecting cov g

of the body ?
(1)  Sensory tissues (2) Epithelial tissues
(3) Connecting tissues (4)  Skeletal tissues

7 g &t HivERTed J g o1 U1 ST €, 39 FEd €

(1) 5% 9% ()  FEHE

@) TR (4) & Faw

The chloroplast containing cells of parenchymag gre called
e
(1)  sclerenchyma (2) ch
lorench
Yma

(3)  chlorophyll 4)
Collench
Yma

999.9004/11 scI
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(1) Eem o
(3 == aﬁﬁ i
Tracheids are found in

(1)  xylem

(3) fatty tissues

999-9004/11 |
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phloem

muscles
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